<op/p. > (%)

Ratio

X
N

0—3

(@)
TIT [T T [ TI T[T T[T I T I T[rrrT

r a3

HELL

2

3

TP n (PCA to beamline)

X

102

LI L L L O L L |

Wi

0 1 2 3
TP n (PCA to beamline)

—=— DQM_TT__mkFit_ORIG
—— DQM_TT__mkFit_MODIF

|
8
IR AN AR RN

|
[0
o

T

...........................................

............................................

............................................

-2 -1 0 1 2

3

TP n (PCA to beamline)

I I
w Nl .
TTT T[T T T T[T T T T[T T T [ TT T T TTTT

|
D
T

............................................

= ——
——
==
i 5 0
———
T T
=
—— .
—_—
——,
o= -
E— .
————

3

TP n (PCA to beamline)

0 1 2 3
TP n (PCA to beamline)



	Contents
	Page 1


